Heath 5.2 and 5.3 Worksheet  Answers        
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1.) Find the coordinates of the orthocenter. 
[image: image4.wmf]437

,

246

æö

--

ç÷

èø


2.) Find the coordinates of the circumcenter. 
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3.) Find the coordinates of the centroid.
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4.) Find the equation of the Euler Line.
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Find the coordinates of the orthocenter. (Altitudes)

a.) 
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. Find the slopes of 
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b.) Find the y-intercept and then the equation of 
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c.) 
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. Find the slopes of 
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d.) Find the y-intercept and then the equation of 
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e.) Find the coordinates of the intersection of 
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. The intersection point is the orthocenter.
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2.) Find the coordinates of the circumcenter. (
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a.) Find the midpoint of 
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b.) k
[image: image30.wmf]AB

^

. Find the equation of line k. 
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c.) Find the midpoint of 
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d.) l
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. Find the equation of line l.
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e.) Find the intersection of line l and k. The intersection point is the circumcenter. 
[image: image36.wmf]2929

,

4812

æö

--

ç÷

èø


[image: image56.emf]�

k

�

l

�

Circumcenter

�

M

�

N

�

A

�

B

�

C


3.) Find the coordinates of the centroid. (Medians)

a.) Find the midpoint of 
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b.) Find the equation of 
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c.) Find the midpoint of 
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d.) Find the equation of 
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e.) Find the intersection of 
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. The intersection point is the centroid.
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a.) By using the centroid formula,
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4.) Find the equation of the Euler line. 
a.) Pick any two points on the Euler line (orthocenter, circumcenter or centroid). 
Let’s say I pick the orthocenter 
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 and the circumcenter
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b.) Find the equation of the line passing through the two points you pick. 
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c.) You may check the accuracy of your equation by plugging the third point on the line and see if it fits. Check my answers by plug the circumcenter
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, and it fits.
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